DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

151) —39175 — 5 = 166) 385.4 =4 =
152) 13.39 = 5 = 167 —5.714 + 2 =
153 63.04 +1 = 168) 6097 + 1 =
15 —7628 =— & = 169 830.3 + 1 =
155) —6608.8 — & = 1700 11.361 = 3 =
156 99540 + 10 = 1 —=2798 +2 =
157 —40082 =~ 7 = 172 —81850 + 10 =
158) 27.924 = 4 = 173 16.515 =5 =
159) 53.053 = 7 = 174) 3063.6 = 6 =
160 —827.9 = 10 = 1) —66206 + 7 =
161) —4545 = 9 = 176) —79.75 =5 =
162) 53.732 + 7 = 1 39.82 2 =
163 6569.1 9 = 1) —20.8 +10 =
161) 72888 = & = 179) —30285 + 9 =
165) 1887.2 — 2 = 150)  260.43 = 3 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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